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SECOND SEMESTER
XCS 121 - ENGLISH-II
COMPUTER TECHNOLOGY
(Common to SoftwareEngineering)
Time: Three Hours /', Maximum: 100 marks
ANSWER ALL QUESTIONS

PART—A (10x2=20 marks)

1. Match the words in Column A with their meanings in

Column B: @Ux%=2)
A i B
(a) Extpdction W The att of thinking about
R something
() Floatation Y () Bringing together

© Amalge\xmatii/)g; “(iii) Remaining on the surface
@ Cunbempiatio;a (iv) Taking out

2. Add suitable\pfeﬁ'xes to the following words to match
the meaning given against them: @Ax¥%=2)

(a)__sonic: having a speed greater than that of
sound.

(b)____sonic: having wavelength beyond the violet end
of the spectrum.

(c) __standard: not having the required or normal
quality.

(d)__tension: abnormal blood pressure.




[image: image2.png]3. Form four words using the suffix “ment”: @x%=2

4. Use infinitive instead of gerund and rewrite the
sentences: 2x1=2)

(a)It is expensive modernizing sick industries.
(b1t is difficult achieving 100 percent production in the
plant.

5. Fill in the blanks with the :%ppropriate forms of the
verbs given in brackets:/’ s @x%=2)

{2) Thesun ___ (vise)"ét 6:30 5.m in the morning.

(b) Listening is és\/important as {speak) in a
Group Digcussion. %

(¢} Time ___ (N{ange) all things. -

(d) The equ.?pment (begin):to give trouble
before the glgrantee expired:.

6.  Complete the x{qnténces “using appropriate clause:
. ) (4x%=2)
(a) }/f . "he communicates effectively,

M) If “he % had perfo;‘med well,

(c)\"l wgul& Esp'end all my time travelling,

/ .
(A If the hattery of the car is down,
7. Rewrite the following in the reported speech:
2x1=2)
(a) Interviewer: Will we be able to spread out to
other planets?

(b) Stephen Hawking: We shall probably manage a

manned flight to Mars in the next century.
2
l N489




[image: image3.png]10.

11.

Fill in the blanks with suitable prepositions:
“Ux%=2)

(a) She drove the car a speed of 80 miles

an hour.

(b) He was not prepared to act his principles.

(c) The factory has been closed two years.

{(d) India should m\)t depend imported

technology. p

Write a description of the\ working of scanner:
/ x (1x2=2)

5

Combine the followmg sentenées using words to show
causal relation:  ° . 2x1=2)

(a) Solar energy can be used to Sﬁpplement fossil
fuels. Fossll\fueib can be saved for peak periods
of demand.

®) Ehe info tion‘V(as easily stolen. There was no
security.check in the system.

;/ el 0 ) ?"

\ ﬁART—B (5%16=80 marks)

(@) Read the’ fallowimg passage carefully and

answer the questions given at the end of it:

The n‘hzi of generating energy from
the electrochemlcal compound of hydrogen
and oxygen can be traced back more than
150 years to the British physicist Sir
William Robert Grove 91811-1896), he
constructed a battery which could indeed
generate energy directly from hydrogen and
oxygen. Barely three years later, in 1842 he
improved his design. However, his
invention did not catch on.
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[image: image4.png]Daimler Benz of Germany is the first
company in the world to introduce a road-
worthy electronic car which does no draw its
energy from storage batteries. It obtains it
directly, depending on its requirements, on
the basis of a chemical reaction between
hydrogen and air. The energy is generated
by means of fuel cells which are fed by two
hydrogen tanks. This, enables a large
passenger-car in the new, V-class Mercedes
to accommodate and tmnsport 8ix passenger
caxs Jur o distance of appn Ahaatcly S50k
on a fuii tank. -

. More impo}(ant , this car is
eco-friendly and relatively: noiseless. The
electronic motor\under the Bqnnet purrs so
softly thdt it is“drowned by the other
sounds such /ad those made by the wheels
and the wind current: Even the energy
generater the fuel “cell is silent.

/ chasjonany you can ‘hear the muffled
| sqund “of the compressor. The exhaust
B tei«x&ed the us@d air pipe’ by researchers
nl; apqur There are no traces of
eng.ally harmful nitric oxides and
soot particles ,or carbondioxide which are
responsible.for the ‘green house effect’. The
fuel cell nsed in these vavs is a true
alternative to petroleum based fuels.

(6] Give the meaning of the following as
used in the passage. 2x1=2)

(a) Physicist
(b) Alternative
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[image: image5.png](i) Mention whether the following
statements are True or False:
2x1=2)

(a) This car uses petroleum
based fuel.

(b) The British physicist
discovered generating energy
from .7 chemical  reaction
betwéen h}leirogen and air,

Y

(3i)  frive short'mesers in not more thar

15 words each: N “4x2=8)

(a) Why is the exhaust o\£this car
termed the ‘used air pipe’?

(b) How is the fuel cell ised’in this car
different from storage battery?

©) Givé ﬁrw two main parts of this
ca) .

e (d)-Give any \tw\o items which cause
; the.green housé gas effect.

A\ 5
(iv) MCb'oqse the best alternative: (2x 1=2)

(a)/‘l‘l;\e fiel cell used in this car is a
~true ‘alternative to petroleum-
¢ baged fuels because .

It is cheap
It is available in plenty

Lol R

(b) Which one of the following makes
the least noise in this car?

1. Electronic motor

2. wheels
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13.

®)

®)

(a)

8. compressor
4. Fuel cell

(e) Complete the following by adding not
more than 15 words each: (2x1=2)

1. Other electronic cars derive their
energy from storage batteries; in
contrast___.

2. The sounds made by the wheels
and the win cun‘ent are

Qr

Imagine that- you are the &talf secretary in
your college. ™ Submit a “report to the
Principal of your-college regarding how to
improve the re’bqlts.\

AN .
Write.. a = set -of “eight important
recommendations to a group of students

: frdm Europe who have come to spend their

month’s ‘vacation in India. The

‘sug tio: may be on the lines of food,

tragel trahsport, climatic conditions etc. to
make thejr. stay comfortable and enjoyable.

Or

Write a set of eight instructions to maintain
a mobile phone in good working condition.

Imagine that you visited a factory where you
had a chance to observe an industrial robot
at work. Write a letter to your friend
describing what you saw.
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(®)

(@)

®

Or

Write a letter to the Olympic Silver
Medalist in shooting, inviting him to
inaugurate the Sports’ Day activities of your
college. Give him particulars like the date,
time and venue of the function and express

your expectations from'him.
/
Prepare a checkli.syéf 8 itéms for conducting
sports day in youx collége. "
~AOr
Rearrange; ‘the followilig qubled up
sentences: .

@ Human beings can walk; run, swim,
and; so on, but robots are usually
conﬁned to one place.

Another advantage human beings

h@ve is. the way the same person can
do‘jobs aﬁ different as making a cup of

Y \teaob designmg a new machine.

(m)»-.lt is a known fact that robots have
many adyantages over human beings.

@v) Taking into aceount all these factors,
it should be remembered that robots
owe their existence, to human beings.

(v) However, it is also true that humans
can do many things that robots can’t.

(vi) For example, humans can carry out a
task without having to be told exactly
how to do it, they don’t have to be
programmed.
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[image: image8.png](vi)) And unlike robots, people can know
whether what they are doing is good
or bad, and whether it is boring or
interesting.

(viii) Even if the robots are able to move,
they can do so, only in a limited way.

When millions in this world are starving for
want of food, billions of dollars are invested
in space technology. Analyze the positive
and negative aspects of the inventing in
such expensive/ technology.> Elucidate your
views in about 500 words:,

Or

In this electronic ear, people still continue to
read books and magazines. Write an essay
of 500 words describing why people still
prefer to read books.
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(16)
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